Functions and Equations
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o REVISE THIS
I T
1 f(x)=2x-9 gx) =7x+1

(@) Solve fg(x) =35

fy(=) = 2L(F<+1)-9

= lbx+2-9
= lex -3
U -F =5
G x= 42
(b) Solve f1(x) + g*(x) =5
y= -9 Y= e+l
x = 23-°l xaf}d-\\
Lﬁq315 XA-\ =3y
X = Y Xl=4
2 T

—fc'(x - Xt

R
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x=3

A, x-\ -
P 3

Foua) + ) =S
%

o +63+22:x~2= 1D
Qx +61 =30
Qx =19

x=|

x=\

(Total for Question 1 is 7 marks)
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2 f)=+ g(x)=x-3 h(x) = x2

(@) Solve f(x) +g(x) =3

8§ +x-3=73 xt -6x +9:-0
g (3 -1)(x-4)=0
g + X = G
X X ( —I—— D*L x= 2 1=l
? 3+ Dclz b
x=2 =4
(b) Solve h(x) = g(4x) (3)
xt= lx -3
x-bx+ 3=0
(x--) = 0
x=3 xc|
x=d  x=\

(c) h}(100) + g(3) =f(k) where k is a constant.
Work out the value of k.

()= Jx i (100) +97'(2) = §(R)
g' (0= x+3 10 + 6 =

k =

|
=
2
(4

)
(Total for Question 2 is 10 marks)
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36
3 f(0="5

9(x) =sin(x)

h(x) = 3x

(@) Show that f1(3) x g(60) is an integer.

= 36
3

1= 36
a?—

\d + = 36
X
NS
X
(b) Solve hf(x) — fh(x) = 26

h§x) = 3x 36
x‘l—

= o2
xb

Eh(x - 36
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- &
%

- b
bﬁ = 63

FaE | e

573 x (60
: b x T
2 2

26

R d—

2
= (3'4"630\

(4)

0% - x*
26
Y= X
> = “_'\r‘-r
Xz Xz=d

(4)
(Total for Question 3 is 8 marks)
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4 f(x)=x? gx)=x+4 h(x)=x+2

(@) Show that fg(x) — fh(x) = 2g(x) + 2h(x)

fqx) = (DCA"\—\1

fh@) = (x+1)*
= X+ +4
fg(x) - {—Mﬂ = X491 b - (T b +4)

2+ 9 +16

1+ 9 x+lb - x-la-b

= bkx + 12

= 2 (2 + 6)

= 2(x+4 +x+72)
2(9G) + W)

LgG) + 2h(x)

l

(b) Solve gf1(x) =9

£ (0 =V e+t =19
qf 0=+ =5
x=1S

- X242
ﬁ | . :
(Total for Question 4 is 8 marks)
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X+ 8

5 f(x)=x2 g(x) =

+ f—
11 h(x)=ax+b

(@) Solve f(x +2) = g(x)
Flourd) = ey o= -8
- Xrrlbx+lb xP-Fetl=0
(5 -2)x-4)=O

8"(1]=|I1,-8 1= x=k
A2 (f: L

h(3)=7

h(55) = 15

(b) Work out the values of a and b.

E ax +b h(’S\Z‘-l- \30« 1b =SS5

:x.=0\3+b La+tb=Ft - a+b:=73

x—b =ay . \2a =43

X—b=y h'(6s)= 15 o=l

o 85-b =15

'(x): 222 > datb=1
S5-b=fa  (2+b:=%
5S=1Sa+b b=-§

b

A : b= _5
: ()
(Total for Question 5 is 9 marks)
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